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200
ANl 2| 4= 64,396,931 63,953, 167 443,764
220
UAAIHA2I =L 47,219,826 46,776,062 443,764
221
K &HOH 2= & 325,000 65,000 260,000
221-02
S AN 2= 290,000 30,000 260,000 |[ S HD ]
DA 02
(ZA) 290,000,000& - (7| 30,000,000& = 260,000
223
o2 2,915,333 2,870,840 44 493
223-01
2NEXZAIELR 1,864,661 1,820,962 43,699 | [ £=4AtEFE D ]
20058 HAIoHHYE RERIZFZAIE AL 35,668
20064 2RI T & K21 A AFR RO 8,025
TEEERS
O 2006 A=Y TSH ABEY - 6
223-02
Al - THIEXZ2AIS &N 1,050,672 1,049,878 794 | [ RHLH2te| b ]
O 20068 HHSHSE ALY AR A - 250
EEETS
O 20068 ABASME ESIITY ABE - 50
O 20068 HE =00l HEETY AIBEY - 2
228
Tha= 9l 2,412,067 2,272,796 139,271
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Z: (200) MIQI%2 2 (220) LAIEAMIQI42 st: (228) &4¢l = (228-09) JIEH &40
Pl eS| - _
ni: = ml/&ﬁoﬂ&oﬁ”%A% A = | =
228-09
JIE &Ee 1,281,464 1,142,193 139,271 ([ A ]
O M11& BHE "Uel" Tsi=ERE (N2 3 X
2 =23)
21,000,000 X 14l = 21,000
[ SAIAHED ]
O SXX4H ¥ 328z £42
(ZX) 160,681,000& - (JI1™)  60,080,000& = 100,601
O URIAIIE =AY
(3H) 8,720,000& - (J1&) 50,328,000 = 41,608
[ SAICIRQI D ]
O THIEEX AFRD KDHLAIY EIIXIM 22
IES
= 3,278
[ Al ]
O Ha~a® 2t E2 SX HE ISALE EA8A2
(A2H OHE 272)
= 56,000
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